PKETREE/N08BAEE N B3 BATFERIESETR ANB411+12 A
= 3E9H 2 3510 B 3811 2= 3E12H I 3E13H R
wE et i B viE et wE  |uEleran W 2G|kt W | Eoh 4T W
R\ EBAREK + 2KG| k8 ANKE IR OKG| Bk R
EHE T (CAS)-< F1H 4KG BH 0.3KG WEE/NT 1KG AL BRI 44 2KG BA 0.3KG
EEA 0.1KG B+ 1KG| . |rr<bhiE> 8KG FRASH<BLE> 5KG|  [FRAT <HkE> 25KG
I L 12KG| # [BEM<ER>GS0) | = [HE 68f| | 0.1KG| P [R/K 15KG
= | o [ETCav<Ews | okq| & [mEsdeEs LKG| 1 [Ekiucay<mi  sko| o [HuEeRER 10KG]
T |EEKEE<E (5000 | ™ e Tcas<k > 24KG| P |ma s <z KG| py [EEEK) 17| 1y
Gl e
HZE 0.3KG
SEEIR(0.3K) 16
0.6KG 0.3KG 4L ZEE 4% 2KG B4k 0.3KG LZEE/NT 3KG
w |FEb 12KG| o |4LEEEIA 2KG| | FHRHk KG| e |[ALEEE% 3KG|  |[BEBNT+ 10KG
Bl | #f |[PEEESRAS 25KG| | RE4% 1KG i; Q~-EHEXE + 30KG| f& |&N(FEED) + 35KG| 18 (&R A<pkE> 3KG
x| 0 T | FRAsh<pkE> KG| e |4xotss KG| & | KE%% 2KG| B | FoRAI(CAS)<BERE> 15KG
& B [wemTomeoad kG| 3 | 03kG| T 36
Hft%E 7 < hE > 34
# | |Es 0.3KG f T 0.3KG § T 03KG| m |Bux 0.3KG
F | o UGN MUKG| 5 |BEZER 34KG w |BPHEECE ) 34KG| ¥ |hamdE) 34KG
t SKG| & [FrmskathE> G| |armmemE<EsS©Y 2168 L. |E% 03KG| .. |HEEE) + 12KG
| 2 [ Ka| ¥ [saeHED 15kq| £ = s 06ka] s [BErG0p 1t
;’Z i [&E L8KG| g [Zi £3(100g) 16| TR T O 2KG
5 (B2 1.8KG| 4% B N 2KG| T |k <+E>(K) 156
BEH <imEs &KG| 5 7 7
K| |[ERRA<EES>12 A+6¥, 2505 K (K 41845y
R | W |fEyh<B&L4%>(125n 4143 R
s (A _ e A _ e [l _ B [JEAl _ e 2Rl _ e
S LR 58 LR 47 IR 5.7 LR 45 TR 54
o T REAN 27 T REAN 28 T REA 1 T REAN 2 T REAN 2
ol M 26 M 3 M 33 M 32 SHASIE 3
I R 13 R 16 G 1 CEST 2 CEas 1.2
= *;—guia 1 KR KA 1 KA KRR
HE KR 839 FHE KR 714 FEKRFR) 708 ZEKF) 659 FERF) 693
AP I REgEFRP PEFRE [ES U







